
FORMA

pag. - page - seite 1/1

RFM - 11Rubinetti acqua - Taps water
Robinets eau - Wasserhahn - Robinet apa

rev. 00
12/2012

 SAE 1, 2, 3 GR



FORMA

pag. - page - seite 1/1

RFM - 11Rubinetti acqua - Taps water
Robinets eau - Wasserhahn - Robinet apa

rev. 00
12/2012

 SAE 1, 2, 3 GR

1 10001 ANELLO ARRES.D6 INOX 316 DIN 6799 STEEL CIRCLIP 316 DIN 6799 CIRCLIP INOX 316 DIN 6799 STAHLHALTENRING 316 DIN 6799 INEL OPRIRE D.6 INOX 316 DIN 6799

2 25385001 DADO PREMISTOPPA COMPLETO STUFFING NUT COMPLETE ECROU DE PRESSE-ETOUPE COMPLET STOPFBUCHSE MUTTER GANZ PIULITA-DOP COMPLET

3 10452 MOLLA RUBINETTO H2O/VAPORE N4 WATER/STEAM TAP SPRING N4 RESSORT DE ROB.EAU-VAPEUR N4 WASSER/DAMPF HAHNFED. N4 ARC PT. ROB.DE APA /VAP.N4

4 25655 RONDELLA RUBINETTO TAP WASHER RONDELLE ROBINET HAHNSCHEIBE SAIBA ROBINET

5 12204 GU GOMMA RUBIN. H2O/VAP 12.5x7.5x9 TAP RUBBER GASKET 12.5x7.5x9 JOINT CAOUTCHOUC ROB. 12.5X7.5X9 HAHNDICHTUNG 12.5x7.5x9 GARN.CAUCIUC PT. ROB DE APA/VAP.

6 25678001 RACC.RUBINETTO TAP FITTING RACCORD ROBINET HAHNANSCHLUSSTUCK RACORD ROBINET

7 12158 GU CU RUB. 26x20.5x2 26x20.5x2 GASKET COPPER SEAL JOINT CUIVRE 26x20.5x2 KUPFERDICHTUNG 26x20.5x2 GARN.DIN CUPRU PT. ROB. 26x20.5x2

8 25461 GHIERA RUBINETTO TAP RING NUT EMBOUT ROBINET HAHNZWINGE PIULITA INELARA PT. ROBINET

9 25311 ASTA RUBINETTO L109 CROMATA CHROMED TAP ROD 109L TIGE ROBINET L109 CHROMEE VERCHROMTE HAHNSTANGE L109 SURUB AUTOFILETANT PT.ROBINET,CROMAT L109.

10 25616 PISTONCINO RUBINETTO TAP JUMPER PISTON ROBINET HAHNKOLBEN PISTON ROBINET

11 12203 GU GOMMA 15x4x4 RUBBER GASKET 15x4x4 JOINT EN CAOUTCHOUC 15X4X4 GUMMIDICHTUNG 15x4x4 GARNITURA DIN CAUCIUC 15x4x4

12 23050 DADO OTTONE M3 UNI 5587 BRASS NUT M3 UNI 5587 ECROU LAITON M3 UNI 5587 MESSING-MUTTER M3 UNI 5587 PIULITA DIN ALAMA M3 UNI 5587

13 561021 ASSIEME RUBINETTO H2O/VAPORE H20/STEAM TAP ASSEMBLY ENSEMBLE ROBINET H20/VAPEUR SATZ HAHN H20/DAMPF ANSAMBLU ROBINET H2O/VAPORI

14 25384 DADO OTTONE M26x1.5 BRASS NUT 26X1.5 ECROU LAITON 26X1.5 MESSING-MUTTER 26X1.5 PIULITA DIN ALAMA M26x1.5

15 53003 CORPO RUBINETTO TAP BODY CORPS DE ROBINET HAHNKRPER CORP ROBINET

16 52005018 TBS.D-8 L.220 1GR FM19 CLD> EV H2O TUBE D-8 L.220 1GR FM19  TUYAU D-8 L.220 1GR FM19  ROHR D-8 L.220 1GR FM19  TUB D-8 L.220 1GR FM19  CAZ>EV H2O

17 52005000 TBS.D-8 L.300 2-3GR FM CLD>EV H2O TUBE D-8 L.300 2-3GR FM TUYAU D-8 L.300 2-3GR FM ROHR D-8 L.300 2-3GR FM TUB D-8 L.300 2-3GR FM CAZ>EV H2O

18 56119043 ASS.TUBO Cr H2O FISSA SP18 COMPLETE WATER PIPE SP18 TUYAU EAU CR SP 18 ROHR WASSER CR SP 18 ANSAMBLU TUB DE APA CROMAT SP18

19 23228001 RACC.DRITTO 1/8M 3/8M         OT/Ni Straight connection 1/8M 3/8M RACCORD DROIT 1/8M 3/8M GERADE VERSCHRAUBUNG 1/8M 3/8M RACORD DE ALAMA NICHELAT 1/8M 3/8M

20 18160053 EL.AEA 220-230V 50/60Hz L120V12 SOL.VALVE WATER REFILL 220-230V/50 L120V12 EL.AEA 220-230V/50 L120V12 ELEKTROVENTIL AEA 220-230V/50 L120V12 ELECTROVALVA AEA SIRAI 220-230V 50Hz

21 23201 RACC.OTT.GOM.D6.2 1/4x1/8-AEA ELBOW BRASS CONNECTOR D6.2 1/4x1/8-AEA RACCORD COUDE LAITON D6.2 1/4x1/8-AEA MESSING-ANSCHLUSS D6.2 1/4x1/8-AEA RACORD ALAMA CAUCIUC D6.2 1/4x1/8 AEA.

Pos. Cod       Denominazione - IT -                              Denomination - GB -                              Denomination - FR -                              Denomination - DE -                              Denumire - RO -


